# Transmutations for Strings 

Amin Boumenir* and Vu Kim Tuan**<br>Department of Mathematics<br>University of West Georgia<br>Carrollton, GA30118, USA<br>* boumenir@westga.edu, ** vu@westga.edu


#### Abstract

We investigate the existence and representation of transmutations, also known as transformation operators, for strings. Using measure theory and functional analytic methods we prove their existence and study their representation. We show that in general they are not close to unity since their representation does not involve a Volterra operator but rather the eigenvalue parameter. We also obtain conditions under which the transmutation is either a bounded or a compact operator. Explicit examples show that they cannot be reduced to Volterra type operators.


Key words: Transmutation, Transformation Operator, String, Sturm-Liouville Problem
Mathematics Subject Classification 2000: 34A55, 34L10

## 1. Introduction

We are concerned with the existence and representation of transmutation operators between two strings $\mathbb{S}_{1}$ and $\mathbb{S}_{2}$ which are respectively defined by

$$
\left\{\begin{array}{l}
\mathbb{S}_{1}(f)=-\frac{d}{d M_{1}(x)} \frac{d^{+}}{d x+} f(x), \quad 0 \leq x<L  \tag{1.1}\\
b f^{\prime}(0)-a f(0)=0
\end{array}\right.
$$

and

$$
\left\{\begin{array}{l}
\mathbb{S}_{2}(f)=-\frac{d}{d M_{2}(x)} \frac{d^{+}}{d x+} f(x) \quad 0 \leq x<L  \tag{1.2}\\
b f^{\prime}(0)-a f(0)=0
\end{array}\right.
$$

where $d M_{i}(x)$, for $i=1,2$, are Stieltjes measures, i.e. $M_{i}(x)$ is a real valued function, continuous from the right, nondecreasing and normalized by $M_{i}(0+)=0$. The string $\mathbb{S}_{i}$ models the vibration of a string and $M_{i}(x)$ can be seen as its mass between 0 and $x$, while $L$ is its total length. The constants $a, b$ are real with $a^{2}+b^{2} \neq 0$, and describe how the strings are tied down at the origin. Observe that $M_{i}$ can include jumps and $\frac{d^{+}}{d x^{+}} f(x)$ denotes the usual right derivative at a point $x$. Recall that $\mathbb{S}_{i}$, defined by (1.1) and (1.2), are symmetric operators, acting in the Hilbert spaces, see [15, 13]

$$
L_{M_{i}}^{2}=\left\{f \text { measurable: }\|f\|_{M_{i}}^{2}=\int_{0}^{L}|f(x)|^{2} d M_{i}(x)<\infty\right\} .
$$

Let us denote by $\varphi$ and $y$ the normalized solutions, which we call eigensolutions, of the initial value problems

$$
\left\{\begin{array} { c } 
{ \mathbb { S } _ { 1 } ( \varphi ( x , \lambda ) ) = \lambda \varphi ( x , \lambda ) }  \tag{1.3}\\
{ \varphi ( 0 , \lambda ) = b , \varphi ^ { \prime } ( 0 , \lambda ) = a }
\end{array} \quad \text { and } \quad \left\{\begin{array}{c}
\mathbb{S}_{2}(y(x, \lambda))=\lambda y(x, \lambda) \\
y(0, \lambda)=b, y^{\prime}(0, \lambda)=a .
\end{array}\right.\right.
$$

If $\varphi(., \lambda) \in L_{M_{1}}^{2}$, then $\lambda$ is an eigenvalue of $\mathbb{S}_{1}$ and $\varphi(., \lambda)$ is an eigenfunction and in case $\lambda$ belongs to the continuous spectrum then $\varphi(., \lambda)$ is an eigenfunctional, see [10]. Since an eigenfunction is not unique, the initial condition in (1.3) provides a simple normalization.

We recall that an operator $\mathbb{V}: \mathbb{L}_{\mathbb{M}_{1}}^{2} \rightarrow \mathbb{L}_{\mathbb{M}_{2}}^{2}$ is said to transmute the strings $\mathbb{S}_{1}$ and $\mathbb{S}_{2}$, see $[\mathbf{3}, \mathbf{4}, \mathbf{1 7}]$, if

$$
\begin{equation*}
\mathbb{S}_{2} \mathbb{V}=\mathbb{V} \mathbb{S}_{1} \tag{1.4}
\end{equation*}
$$

Applying $\varphi$ to both sides of (1.4) formally yields

$$
\begin{aligned}
\mathbb{S}_{2} \mathbb{V} \varphi(x, \lambda) & =\mathbb{V} \mathbb{S}_{1} \varphi(x, \lambda) \\
& =\lambda \mathbb{V} \varphi(x, \lambda)
\end{aligned}
$$

which means that $\mathbb{V} \varphi$ is an eigensolution of $\mathbb{S}_{2}$, and so if it is unique, we should also have

$$
\begin{equation*}
y(x, \lambda)=\mathbb{V} \varphi(x, \lambda) \tag{1.5}
\end{equation*}
$$

One should emphasize that (1.4) does not imply that $\mathbb{S}_{1}$ and $\mathbb{S}_{2}$ are similar operators, since their spectra may be different and usually $\varphi(x, \lambda) \notin L_{M_{1}}^{2}$ and $y(x, \lambda) \notin L_{M_{2}}^{2}$, see[10]. Nevertheless the Gelfand-Levitan theory uses (1.5) and (1.4), to compare and express one operator in terms of the other. This simple idea is at the heart of the Gelfand-Levitan inverse spectral theory, which we now briefly outline. The relation (1.5) in the 1951 Gelfand and Levitan theory, [9], reads

$$
\begin{equation*}
y(x, \lambda)=\cos (x \sqrt{\lambda})+\int_{0}^{x} K(x, t) \cos (t \sqrt{\lambda}) d t \tag{1.6}
\end{equation*}
$$

where $y(x, \lambda)$ is the eigensolution of the Sturm-Liouville problem

$$
\left\{\begin{array}{l}
-y^{\prime \prime}(x, \lambda)+q(x) y(x, \lambda)=\lambda y(x, \lambda), \quad 0 \leq x<\infty  \tag{1.7}\\
y(0, \lambda)=1, y^{\prime}(0, \lambda)=h
\end{array}\right.
$$

A necessary condition for the existence of the transmutation in (1.6) is the asymptotic behavior of the spectral function at infinity, $[\mathbf{9 , 1 7}]$

$$
\begin{equation*}
\Gamma(\lambda) \approx \frac{2}{\pi} \sqrt{\lambda_{+}} \text {as } \lambda \rightarrow \infty \tag{1.8}
\end{equation*}
$$

A year later, M. G. Krein came up with a completely new direct method for the inverse spectral theory for the string. Surprisingly, it used no transmutations or perturbation techniques, but function theory, continued fractions and moments problem, [6]. To reconstruct the mass $M$ of a string, the spectral function is required to satisfy

$$
\begin{equation*}
\int_{0}^{\infty} \frac{1}{1+\lambda} d \Gamma(\lambda)<\infty \tag{1.9}
\end{equation*}
$$

Observe that (1.9) covers a larger class of spectral functions than (1.8). Using a set of rules, on how simple operations on $M$ would affect the spectral function, M.G. Krein could in some special cases reconstruct the mass of the string explicitly. In 1966, at the Moscow international congress, M.G. Krein mentioned the open problem regarding the uniqueness of the inverse spectral problem for the string which was then solved few years later by de Branges using Hilbert spaces of entire functions. In 1976, Dym and McKean summarized the inverse spectral theory for the string in their book [6].

How to extend the Gelfand-Levitan theory to strings? As a first step, this paper is to address the question of existence and representation of the transmutation between two strings. In $[\mathbf{7}, \mathbf{8}]$, Dym and Kravitsky studied the existence of the transmutation under the assumption of a small perturbation of the mass. Their method starts with the spectral functions and then solves a nonlinear integral equation through the Gokhberg-Krein special factorization theorem, see also $[\mathbf{1}, \mathbf{1 1}, \mathbf{2 4}]$. Basically for the transmutation to be close to unity, one needs the measures to be close enough.

Here the treatment is different. We use direct methods, where only the transforms of the strings are used, which avoids the heavy machinery of partial differential equations used in the Gelfand-Levitan theory [9].

Note also that in general, a string such as $\mathbb{S}_{1}$ cannot be reduced to a Sturm-Liouville equation such as (1.7), for the simple reason that the growth condition (1.8) may not be valid, see [13]. Also the Liouville transformation cannot be used unless $M_{i}$ is $C^{3}$ and is strictly increasing. For applications and numerical methods of the string we refer to $[\mathbf{2}, \mathbf{4}, \mathbf{5}, \mathbf{6}, \mathbf{1 6}, \mathbf{1 7}, \mathbf{2 1}, \mathbf{2 3}]$.

## 2. Notation

Recall that $d M_{i}$ is in fact a Lebesgue-Stieltjes measure [20], which vanishes when $M_{i}$ is constant and its support supp $d M_{i} \subset[0, L]$. The differential expression $-\frac{d}{d M_{i}(x)} \frac{d^{+}}{d x^{+}}$defines then a symmetric operator in the Hilbert space $L_{M_{i}}^{2}$. To avoid any ambiguity about the division by zero, M.G. Krein interpreted the initial value problem $\frac{-d}{d M_{i}(x)} \frac{d^{+}}{d x^{+}} y(x)=f(x), y(0)=b, y^{\prime}(0)=a$, when $f \in L_{M_{i}}^{2}$, as an integral equation

$$
\begin{equation*}
y(x)=a x+b-\int_{0}^{x} \int_{0}^{t} f(\xi) d M_{i}(\xi) d t \tag{2.1}
\end{equation*}
$$

For a self-adjoint extension, we need to examine the right end point. In case the length is infinite, $L=\infty$, it is well known that operator $\mathbb{S}_{i}$ is in the limit point case at $x=\infty$ if and only if $\int_{0}^{\infty} x^{2} d M_{i}(x)=\infty$, see [15, p. 70]. In that follows we assume that we are in the limit point case, otherwise we must add a boundary condition at $x=\infty$ to make $\mathbb{S}_{1}$ in (1.1) self-adjoint. In case the length is finite, $L<\infty$, the type of a boundary condition to be added at $x=L$ depends on the presence of a jump of the mass at $x=L$, which is called "heavy mass", see [6]. M.G. Krein allowed the boundary condition at $x=L$ to be a function of $\lambda$, which led to a family of spectral functions. He then defined a principal spectral function when the associated transform was onto, [15]. Since finite length strings can be extended to the right, without loss of generality we can assume that $L=\infty$ and that $\mathbb{S}_{i}$ are self-adjoint in $L_{M_{i}}^{2}$.

When $\mathbb{S}_{1}$ is self-adjoint, its eigensolutions, (1.3), form the kernel of the transform associated with $\mathbb{S}_{1}$

$$
L_{M_{1}}^{2} \xrightarrow{\mathbf{F}_{\varphi}} L_{\Gamma_{1}}^{2}
$$

where

$$
\mathbf{F}_{\varphi}(f)(\lambda)=\int_{0}^{\infty} f(x) \varphi(x, \lambda) d M_{1}(x)
$$

The inverse transform is given by

$$
f(x)=\int \mathbf{F}_{\varphi}(f)(\lambda) \varphi(x, \lambda) d \Gamma_{1}(\lambda)
$$

where the spectral function $\Gamma_{1}$ is non decreasing, right continuous, supp $d \Gamma_{1}$ is the spectrum of $\mathbb{S}_{1}$ and the Parseval relation, for any $f, g \in L_{M_{1}}^{2}$ yields

$$
\int_{0}^{\infty} f(x) \overline{g(x)} d M_{1}(x)=\int \mathbf{F}_{\varphi}(f)(\lambda) \overline{\mathbf{F}_{\varphi}(g)(\lambda)} d \Gamma_{1}(\lambda)
$$

We now introduce a notation used to compare Stieltjes measures

$$
d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}(\lambda)\right) \text { as } \quad \lambda \rightarrow \infty
$$

if for all measurable functions with respect to $d \Gamma_{1}$, and $d \Gamma_{2}$

$$
\int_{N}^{\infty}|f(\lambda)| d \Gamma_{1}(\lambda) \leq c \int_{N}^{\infty}|f(\lambda)| d \Gamma_{2}(\lambda) \text { holds for large } N .
$$

The fact that $d \Gamma_{1}$ is absolutely continuous with respect to $d \Gamma_{2}$, is denoted by $d \Gamma_{1} \ll d \Gamma_{2}$ and means there exists $g \in L_{\Gamma_{2}}^{1, l o c}$ such that $d \Gamma_{1}(\lambda)=g(\lambda) d \Gamma_{2}(\lambda)$. Similarly $d \Gamma_{1}<^{2, l o c} d \Gamma_{2}$ means that $g \in L_{\Gamma_{2}}^{2, l o c}$ while $d \Gamma_{1}<^{\infty} d \Gamma_{2}$ means $\operatorname{esssup}_{\lambda \in \operatorname{supp} d \Gamma_{2}} g(\lambda)<\infty$ and finally the cut-off function is defined
by $x_{+}=\left\{\begin{array}{c}x \text { if } \\ 0 \geq 0 \\ 0 \text { if }\end{array} x<0\right.$. When integrating functions of two variables with respect to one of the variable, we shall indicate it by labeling the measure. For example $f(x, t) \in L_{M_{1}(t)}^{2}$ means

$$
\|f(x, t)\|_{M_{1}(t)}^{2}=\int_{0}^{\infty}|f(x, t)|^{2} d M_{1}(t)<\infty
$$

The measures $\Gamma_{i}$ are always associated transforms and so with the variable $\lambda$.
In all that follows we assume that the strings in (1.1) and (1.2) have infinite lengths, $M_{i}(0+)=$ $0, L=\infty$, and are self-adjoint. To this end we need either

$$
\int_{0}^{\infty} x^{2} d M_{i}(x)=\infty \quad \text { for } \quad i=1,2(\text { LP case at } x=\infty)
$$

or $\int_{0}^{\infty} x^{2} d M_{i}(x)<\infty$, limit circle case at $x=\infty$, but then we must add a boundary condition there.

## 3. Preliminaries

The normalized eigenfunctions of $\mathbb{S}_{1}$, see (1.1) and (2.1), satisfy the integral equation

$$
\varphi(x, \lambda)-a x-b=-\lambda \int_{0}^{\infty}(x-t)_{+} \varphi(t, \lambda) d M_{1}(t)
$$

For any fixed $x$, we have $(x-t)_{+} \in L_{M_{1}(t)}^{2}$, and so $-\frac{1}{\lambda}(\varphi(x, \lambda)-a x-b)$, as its $\mathbf{F}_{\varphi}$ transform, belongs to $L_{\Gamma_{1}}^{2}$. Therefore by the Parseval relation we get

$$
\begin{equation*}
\int \frac{1}{\lambda^{2}}|\varphi(x, \lambda)-a x-b|^{2} d \Gamma_{1}(\lambda)=\int_{0}^{x}(x-t)^{2} d M_{1}(t) \quad \text { for } \quad 0 \leq x \tag{3.1}
\end{equation*}
$$

Similar relations hold for the transform $\mathbf{F}_{y}$ associated with operator $\mathbb{S}_{2}$ and its spectral function $\Gamma_{2}$. Using the above relation we have

Proposition 1. For all $x \geq 0$ we deduce
(i) $\frac{1}{\lambda}(\varphi(x, \lambda)-a x-b) \in L_{\Gamma_{1}}^{2}$
(ii) $\int \frac{1}{\lambda^{2}}|\varphi(x, \lambda)-a x-b|^{2} d \Gamma_{1}(\lambda)=\int_{0}^{x}(x-t)^{2} d M_{1}(t)$
(iii) The set $\frac{1}{\lambda}(\varphi(x, \lambda)-a x-b)$ is complete in $L_{\Gamma_{1}}^{2}$

Proof. (i) and (ii) follow from (3.1). To see (iii), we first show that the set $\left\{(x-t)_{+}\right\}_{x \geq 0}$ is complete in $L_{M_{1}}^{2}$ that is for any $g \in L_{M_{1}}^{2}$, if

$$
\begin{equation*}
G(x):=\int_{0}^{x}(x-t) g(t) d M_{1}(t)=0 \quad \text { for all } \quad x \geq 0 \quad \text { then } \quad g=0 \quad d M_{1}-\text { a.e. } \tag{3.2}
\end{equation*}
$$

Note that the function $G(x)$ is continuous and differentiable and so

$$
0=\frac{d^{+}}{d x^{+}} G(x)=\int_{0}^{x} g(t) d M_{1}(t)
$$

Differentiation with respect to $M_{1}$ leads to

$$
0=\frac{d}{d M_{1}(x)} \frac{d^{+}}{d x^{+}} G(x)=g(x)
$$

which means that the family $\left\{(x-t)_{+}\right\}_{x \geq 0}$ is complete in $L_{M_{1}(t)}^{2}$. The image of a complete set in $L_{M_{1}}^{2}$ by the $F_{\varphi}$ - transform remains complete in $L_{\Gamma_{1}}^{2}$ and so $\left\{\mathbf{F}_{\varphi}\left((x-t)_{+}\right)\right\}_{0 \leq x<\infty}=$ $\left\{\frac{1}{\lambda}(\varphi(x, \lambda)-a x-b)\right\}_{0 \leq x<\infty}$ is also complete in $L_{\Gamma_{1}}^{2}$

Similar result can be also stated for the string $\mathbb{S}_{2}$. We now prove the existence of a transmutation between eigensolutions of $\mathbb{S}_{1}$ and $\mathbb{S}_{2}$

Proposition 2. Assume that $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}(\lambda)\right)$ as $\lambda \rightarrow \infty$, then for each $x>0$ there exists $H(x,.) \in L_{M_{1}}^{2}$ such that

$$
\begin{equation*}
y(x, \lambda)=\varphi(x, \lambda)+\lambda \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t) \tag{3.3}
\end{equation*}
$$

Proof. We only need to prove that for any given $x>0$

$$
\begin{equation*}
\int_{0}^{\infty}\left|\frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda))\right|^{2} d \Gamma_{1}(\lambda)<\infty \tag{3.4}
\end{equation*}
$$

Observe that since $\frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda))$ is continuous in $\lambda$, and $y(x, 0)-\varphi(x, 0)=0$, then

$$
\int_{0}^{N}\left|\frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda))\right|^{2} d \Gamma_{1}(\lambda)<\infty
$$

for any finite $N$. For large $N$, use the fact that $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}(\lambda)\right)$ as $\lambda \rightarrow \infty$ to write

$$
\int_{N}^{\infty}\left|\frac{1}{\lambda}(y(x, \lambda)-a x-b)\right|^{2} d \Gamma_{1}(\lambda) \leq c \int_{N}^{\infty}\left|\frac{1}{\lambda}(y(x, \lambda)-a x-b)\right|^{2} d \Gamma_{2}(\lambda)<\infty
$$

thus (3.4) holds. Using the inverse $\mathbf{F}_{\varphi}-$ transform, (3.4) implies the existence of $H(x, t) \in L_{M_{1}(t)}^{2}$ such that

$$
\frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda))=\int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t)
$$

i.e.

$$
\begin{equation*}
y(x, \lambda)=\varphi(x, \lambda)+\lambda \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t) \tag{3.5}
\end{equation*}
$$

So far the transmutation operator (3.5) has been defined over a family of solutions only, namely $\varphi(., \lambda)$ and its range is also a family of solutions $y(., \lambda)$. Unfortunately these solutions cannot be in the Hilbert space $L_{M_{i}}^{2}$, when $\lambda$ is not an eigenvalue, see rigged spaces, $[\mathbf{1 0}]$. Next in order for (3.5) to define a linear operator, its action must be independent of $\lambda$, thus we must remove the spectral parameter $\lambda$. To this end use the fact that

$$
d \varphi^{+}(x, \lambda)=-\lambda \varphi(x, \lambda) d M_{1}(x)
$$

to recast (3.5) into an operator form

$$
\begin{equation*}
y(x, \lambda)=\varphi(x, \lambda)-\int_{0}^{\infty} H(x, t) d \varphi^{+}(t, \lambda) \tag{3.6}
\end{equation*}
$$

To find the domain of the integral operator in (3.6) that maps $\varphi(., \lambda) \rightarrow y(., \lambda)$, we need to examine the integrability of the kernel $H$. For that purpose we prove the following proposition, which by itself is of independent interest.

Proposition 3. Let $\Gamma_{1}$ and $\Gamma_{2}$ be two nondecreasing functions defining Stieltjes measures. Then

$$
d \Gamma_{1}<^{\infty} d \Gamma_{2} \text { if and only if } L_{\Gamma_{2}}^{2} \subset L_{\Gamma_{1}}^{2} .
$$

Proof. It is enough to prove the converse, that is the assumption $L_{\Gamma_{2}}^{2} \subset L_{\Gamma_{1}}^{2}$ leads to boundedness of the identity mapping $L_{\Gamma_{2}}^{2} \rightarrow L_{\Gamma_{1}}^{2}$. Otherwise there exists a sequence $\left\{f_{n}\right\}_{n \geq 1} \subset L_{\Gamma_{2}}^{2}$ such that $f_{n} \xrightarrow{L_{\Gamma_{2}}^{2}} 0$ but $f_{n} \xrightarrow{L_{\Gamma_{1}}^{2}} 0$. Thus there exists $\varepsilon>0$ and a subsequence of $f_{n}$, which we denote again by $f_{n}$, such that

$$
\left\|f_{n}\right\|_{\Gamma_{2}}^{2} \leq \frac{1}{n^{2}} \quad \text { but } \quad\left\|f_{n}\right\|_{\Gamma_{1}}^{2} \geq \varepsilon>0
$$

Define by $\psi=\sqrt{\sum_{n \geq 1}\left|f_{n}\right|^{2}}$. It is readily seen that $\psi \in L_{\Gamma_{2}}^{2}$ since $\|\psi\|_{\Gamma_{2}}^{2}=\sum_{n \geq 1}\left\|f_{n}\right\|_{\Gamma_{2}}^{2} \leq \sum_{n \geq 1} \frac{1}{n^{2}}<\infty$.
However

$$
\|\psi\|_{\Gamma_{1}}^{2}=\sum_{n \geq 1}\left\|f_{n}\right\|_{\Gamma_{1}}^{2} \geq \sum_{n \geq 1} \varepsilon=\infty
$$

which means that there is $\psi \in L_{\Gamma_{2}}^{2}$ such that $\psi \notin L_{\Gamma_{1}}^{2}$, which contradicts $L_{\Gamma_{2}}^{2} \subset L_{\Gamma_{1}}^{2}$. Thus the identity mapping $L_{\Gamma_{2}}^{2} \longrightarrow L_{\Gamma_{1}}^{2}$ must be bounded, i.e.

$$
\begin{equation*}
\int|f(\lambda)|^{2} d \Gamma_{1}(\lambda) \leq c \int|f(\lambda)|^{2} d \Gamma_{2}(\lambda) \tag{3.7}
\end{equation*}
$$

Thus a negligible set with respect to $d \Gamma_{2}$ is also negligible with respect to $d \Gamma_{1}(\lambda)$ by (3.7). By the Radon-Nikodym theorem $[\mathbf{2 0}] d \Gamma_{1}$ is absolutely continuous with respect to $d \Gamma_{2}$, i.e. there exists a locally $d \Gamma_{2}$ integrable function $g(\lambda)$ such that

$$
d \Gamma_{1}(\lambda)=g(\lambda) d \Gamma_{2}(\lambda) \quad d \Gamma_{2} \text { a.e. }
$$

We now show that $g$ is essentially bounded. To this end use (3.7) to obtain

$$
\int|f(\lambda)|^{2} g(\lambda) d \Gamma_{2}(\lambda) \leq c \int|f(\lambda)|^{2} d \Gamma_{2}(\lambda)
$$

Thus the mapping $h \rightarrow \int h(\lambda) g(\lambda) d \Gamma_{2}(\lambda)$ is a bounded functional on $L_{d \Gamma_{2}}^{1}$ which implies that $g \in\left(L_{d \Gamma_{2}}^{1}\right)^{\prime}=L_{d \Gamma_{2}}^{\infty}$.

We now prove:
Theorem 1. Let $d \Gamma_{1} \lll d \Gamma_{2}$ then

$$
\begin{equation*}
\|H(x, t)\|_{M_{1}(t)} \leq c\left\|(x-t)_{+}\right\|_{M_{1}(t)+M_{2}(t)} . \tag{3.8}
\end{equation*}
$$

In all that follows by $c$ we denote a universal constant, that can be distinct in different places. Proof. Observe that (3.8) is a uniform bound on the kernel $H$. ¿From (3.3) it follows that

$$
\begin{aligned}
\|H(x, t)\|_{M_{1}(t)} & =\left\|\frac{\varphi(x, \lambda)-y(x, \lambda)}{\lambda}\right\|_{\Gamma_{1}} \\
& \leq\left\|\frac{\varphi(x, \lambda)-a x-b}{\lambda}\right\|_{\Gamma_{1}}+\left\|\frac{y(x, \lambda)-a x-b}{\lambda}\right\|_{\Gamma_{1}}
\end{aligned}
$$

The fact $d \Gamma_{1}<^{\infty} d \Gamma_{2}$, see Proposition 3, implies

$$
\left\|\frac{y(x, \lambda)-a x-b}{\lambda}\right\|_{\Gamma_{1}} \leq c\left\|\frac{y(x, \lambda)-a x-b}{\lambda}\right\|_{\Gamma_{2}}
$$

and Proposition 1, but stated for $\mathbb{S}_{2}$, then yields

$$
\begin{aligned}
\|H(x, t)\|_{M_{1}(t)} & \leq\left\|(x-t)_{+}\right\|_{M_{1}(t)}+c\left\|\frac{y(x, \lambda)-a x-b}{\lambda}\right\|_{\Gamma_{2}} \\
& \leq\left\|(x-t)_{+}\right\|_{M_{1}(t)}+c\left\|(x-t)_{+}\right\|_{M_{2}(t)} \\
& \leq c\left\|(x-t)_{+}\right\|_{M_{2}(t)+M_{1}(t)} . \square
\end{aligned}
$$

In terms of integrals (3.8) means that

$$
\int_{0}^{\infty}|H(x, t)|^{2} d M_{1}(t) \leq c \int_{0}^{x}(x-t)^{2} d\left[M_{1}+M_{2}\right](t)
$$

Corollary 1. If $d \Gamma_{1} \lll d \Gamma_{2}$ and $d M_{1} \lll d M_{2}$ then

$$
\begin{equation*}
\|H(x, t)\|_{M_{1}(t)} \leq c\left\|(x-t)_{+}\right\|_{M_{2}(t)} \tag{3.9}
\end{equation*}
$$

Proof. Observe that if $\underset{x>0}{\operatorname{esssup}} \frac{d M_{1}}{d M_{2}}<\infty$ then $\left\|(x-t)_{+}\right\|_{M_{1}(t)} \leq c\left\|(x-t)_{+}\right\|_{M_{2}(t)}$ and (3.8) yields (3.9).

Since $M_{2}(0+)=0$ we have

$$
\left\|(x-t)_{+}\right\|_{M_{2}(t)}^{2}=\int_{0}^{x}(x-t)^{2} d M_{2}(t) \leq x^{2} \int_{0}^{x} d M_{2}(t)=x^{2} M_{2}(x)
$$

Thus the norm of $H(x, \cdot)$ satisfies the inequality

$$
\|H(x, t)\|_{M_{1}(t)} \leq c x \sqrt{M_{2}(x)}
$$

We now prove the converse of Theorem 1.
Theorem 2. Assume that
i) $y(x, \lambda)=\varphi(x, \lambda)+\lambda \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t)$,
ii) $\|H(x, t)\|_{M_{1}(t)} \leq c\left\|(x-t)_{+}\right\|_{M_{2}(t)}$
iii) $d M_{1}<^{\infty} d M_{2}$
then $\quad d \Gamma_{1}<^{\infty} d \Gamma_{2}$.
Proof: From i) it follows that

$$
\frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda))=\int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t)
$$

then by $\mathbf{F}_{\varphi}$-transform $\frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda)) \in L_{\Gamma_{1}}^{2}$ since by $\left.i i\right) H(x, \cdot) \in L_{M_{1}}^{2}$. Recall that from Proposition 1 we also have

$$
\frac{1}{\lambda}(\varphi(x, \lambda)-a x-b) \in L_{\Gamma_{1}}^{2}
$$

and so we deduce that

$$
\frac{1}{\lambda}(y(x, \lambda)-a x-b) \in L_{\Gamma_{1}}^{2}
$$

Hence,

$$
\begin{align*}
\left\|\frac{1}{\lambda}(y(x, \lambda)-a x-b)\right\|_{\Gamma_{1}} & \leq\left\|\frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda))\right\|_{\Gamma_{1}}+\left\|\frac{1}{\lambda}(\varphi(x, \lambda)-a x-b)\right\|_{\Gamma_{1}}  \tag{3.10}\\
& =\|H(x, t)\|_{M_{1}(t)}+\left\|(x-t)_{+}\right\|_{M_{1}(t)} \\
& \leq c\left\|(x-t)_{+}\right\|_{M_{2}(t)}+c\left\|(x-t)_{+}\right\|_{M_{2}(t)} \\
& \leq c\left\|\frac{1}{\lambda}(y(x, \lambda)-a x-b)\right\|_{\Gamma_{2}}
\end{align*}
$$

Let $C_{o}$ be the set of continuous functions with compact support. Since $C_{o} \subset L_{\Gamma_{2}}^{2} \cap L_{\Gamma_{1}}^{2}$ the identity operator $L_{\Gamma_{2}}^{2} \rightarrow L_{\Gamma_{1}}^{2}$ is always densely defined. Observe that (3.10) means that the identity operator $L_{\Gamma_{2}}^{2} \rightarrow L_{\Gamma_{1}}^{2}$ being uniformly bounded on the complete set $\left\{\frac{1}{\lambda}(y(x, \lambda)-a x-b)\right\}_{\lambda \in \sigma_{2}}$, whose convex hull is dense in $L_{\Gamma_{2}}^{2}$, is therefore bounded. This means that $\|f\|_{\Gamma_{1}} \leq c\|f\|_{\Gamma_{2}}$ for all $f \in L_{\Gamma_{2}}^{2}$, or $L_{\Gamma_{2}}^{2} \subset L_{\Gamma_{1}}^{2}$. Thus by Proposition $3, d \Gamma_{1}<^{\infty} d \Gamma_{2}$.

Combining Proposition 2, Theorems 1, 2 and Corollary 1 we arrive at
Theorem 3. Let $d M_{1} \lll d M_{2}$ then

$$
y(x, \lambda)=\varphi(x, \lambda)+\lambda \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t), \quad \text { with }\|H(x, t)\|_{M_{1}(t)} \leq c\left\|(x-t)_{+}\right\|_{M_{2}(t)}
$$

if and only if $d \Gamma_{1}<^{\infty} d \Gamma_{2}$.
Under the assumption that $\Gamma_{1}$ grows slowly at $\lambda=0$, we can prove the square integrability of $H(\cdot, t)$ with respect to $d M_{1}(x)$.

Proposition 4. Let $d \Gamma_{1} \lll d \Gamma_{2}$ and $d M_{1} \lll^{\infty} d M_{2}$. If moreover, $\int_{0}^{\varepsilon} \frac{1}{\lambda^{2}} d \Gamma_{1}(\lambda)<\infty$ for some $\epsilon>0$, then $\int_{0}^{\infty}|H(x, t)|^{2} d M_{1}(t) \in L_{M_{1}(x)}^{2}$

Proof. From (3.5) and the inverse $\mathbf{F}_{\varphi}$-transform we deduce that

$$
\begin{aligned}
H(x, t) & =\int \frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda)) \varphi(t, \lambda) d \Gamma_{1}(\lambda) \\
& =\int y(x, \lambda) \frac{\varphi(t, \lambda)}{\lambda} d \Gamma_{1}(\lambda)-\int \frac{\varphi(t, \lambda)}{\lambda} \varphi(x, \lambda) d \Gamma_{1}(\lambda) \\
& =I_{1}(x, t)-I_{2}(x, t)
\end{aligned}
$$

To examine $I_{2}(x, t)$, recall that any spectral function $\Gamma_{1}$ of the string satisfies $\int_{0}^{\infty} \frac{1}{1+\lambda} d \Gamma_{1}(\lambda)<$ $\infty$, see [6]. The assumption $\int_{0}^{\varepsilon} \frac{1}{\lambda^{2}} d \Gamma_{1}(\lambda)$ implies that $\int_{0}^{\infty} \frac{1}{\lambda^{2}} d \Gamma_{1}(\lambda)<\infty$. Since $\mathbb{S}_{1}$ has at most a finite number of negative eigenvalues, then $\int_{-\infty}^{\infty} \frac{1}{\lambda^{2}} d \Gamma_{1}(\lambda)<\infty$ which means that

$$
\begin{equation*}
\frac{1}{\lambda}(a t+b) \in L_{\Gamma_{1}}^{2} \tag{3.11}
\end{equation*}
$$

which combined with $\frac{1}{\lambda}(\varphi(t, \lambda)-a t-b) \in L_{\Gamma_{1}}^{2}$ see Proposition 1 , imply that $\frac{1}{\lambda} \varphi(t, \lambda) \in L_{\Gamma_{1}}^{2}$, i.e.

$$
\begin{equation*}
\int\left|\frac{1}{\lambda} \varphi(t, \lambda)\right|^{2} d \Gamma_{1}(\lambda)<\infty \tag{3.12}
\end{equation*}
$$

For every fixed $t>0, I_{2}(\cdot, t)$ being the inverse $\left.\mathbf{F}_{( } \varphi\right)$-transform of $\frac{1}{\lambda} \varphi(t, \lambda) \in L_{\Gamma_{1}}^{2}$ belongs to $L_{M_{1}(x)}^{2}$.
Now use the fact that $d \Gamma_{1} \ll{ }^{\infty} d \Gamma_{2}$ to recast the function $I_{1}$ in the form

$$
\begin{aligned}
I_{1}(x, t) & =\int y(x, \lambda) \frac{1}{\lambda} \varphi(t, \lambda) d \Gamma_{1}(\lambda) \\
& =\int y(x, \lambda) \frac{1}{\lambda} \varphi(t, \lambda) \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda) d \Gamma_{2}(\lambda)
\end{aligned}
$$

It remains to see $I_{1}(\cdot, t)$ as the $\mathbf{F}_{y}$-inverse transform of a function from $L_{\Gamma_{2}}^{2}$. To this end we estimate the function $\frac{\varphi(t, \lambda)}{\lambda} \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda)$ using (3.12)

$$
\int\left|\frac{\varphi(t, \lambda)}{\lambda} \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda)\right|^{2} d \Gamma_{2}(\lambda) \leq \underset{\lambda}{\operatorname{esssup}} \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda) \int\left|\frac{1}{\lambda} \varphi(t, \lambda)\right|^{2} d \Gamma_{1}(\lambda)<\infty
$$

Thus $I_{1}(x, t) \in L_{M_{2}(x)}^{2} \subset L_{M_{1}(x)}^{2}$ which means that $H(x, t)=I_{1}(x, t)-I_{2}(x, t) \in L_{M_{1}(x)}^{2}$.

## 4. The transmutation operator $\mathbb{H}$

¿From Proposition 3, we have the existence of the kernel $H$. Now observe that

$$
f(x) \rightarrow \int_{0}^{\infty} H(x, t) f(t) d M_{1}(t)
$$

defines a continuous functional on $L_{M_{1}}^{2}$,

$$
\begin{aligned}
\left|\int_{0}^{\infty} H(x, t) f(t) d M_{1}(t)\right| & \leq \sqrt{\int_{0}^{\infty}|H(x, t)|^{2} d M_{1}(t)} \sqrt{\int_{0}^{\infty}|f(t)|^{2} d M_{1}(t)} \\
& \leq\|H(x, t)\|_{M_{1}(t)}\|f\|_{M_{1}}
\end{aligned}
$$

Thus we have proved
Proposition 5. Assume that $d \Gamma_{1}=O\left(d \Gamma_{2}\right)$ as $\lambda \rightarrow \infty$ then for each fixed $x>0, f \rightarrow$ $\int_{0}^{\infty} H(x, t) f(t) d M_{1}(t)$ defines a bounded functional on $L_{M_{1}}^{2}$.

We now show that (3.3) can be used to define an integral operator in $L_{M_{1}}^{2}$. More precisely we have

Proposition 6. Assume $d \Gamma_{1}=O\left(d \Gamma_{2}\right)$ as $\lambda \rightarrow \infty, \frac{d \Gamma_{1}}{d \Gamma_{2}} \in L_{\Gamma_{2}}^{2, l o c}, d M_{1}=O\left(d M_{2}\right)$ as $x \rightarrow \infty$ then the operator $L_{M_{1}}^{2} \rightarrow L_{M_{1}}^{2}$

$$
g \rightarrow \int_{0}^{\infty} H(x, t) \mathbb{S}_{1} g(t) d M_{1}(t)
$$

is densely defined in $L_{M_{1}}^{2}$.
Proof. From Proposition 2, $H(x, t) \in L_{M_{1}(t)}^{2}$ and Parseval identity and (3.3) imply that for any $f \in L_{M_{1}}^{2}$

$$
\begin{align*}
\int_{0}^{\infty} H(x, t) f(t) d M_{1}(t) & \left.=\int_{0}^{\infty} \mathbf{F}_{\varphi}(H(x, \cdot))(\lambda) \mathbf{F}_{\varphi}(f)\right)(\lambda) d \Gamma_{1}(\lambda)  \tag{4.1}\\
& =\int_{0}^{\infty}(y(x, \lambda)-\varphi(x, \lambda)) \frac{1}{\lambda} \mathbf{F}_{\varphi}(f)(\lambda) d \Gamma_{1}(\lambda)
\end{align*}
$$

Now choose $f=\mathbb{S}_{1} g$, which means

$$
\mathbf{F}_{\varphi}(f)(\lambda)=\mathbf{F}_{\varphi}\left(\mathbb{S}_{1} g\right)(\lambda)=\lambda \mathbf{F}_{\varphi}(g)(\lambda)
$$

Thus (4.1) can be written as

$$
\begin{aligned}
\int_{0}^{\infty} H(x, t) \mathbb{S}_{1} g(t) d M_{1}(t) & =\int_{0}^{\infty}(y(x, \lambda)-\varphi(x, \lambda)) \mathbf{F}_{\varphi}(g)(\lambda) d \Gamma_{1}(\lambda) \\
& =\int_{0}^{\infty} y(x, \lambda) \mathbf{F}_{\varphi}(g)(\lambda) d \Gamma_{1}(\lambda)-\int_{0}^{\infty} \varphi(x, \lambda) \mathbf{F}_{\varphi}(g)(\lambda) d \Gamma_{1}(\lambda) \\
& =\int_{0}^{\infty} y(x, \lambda) \mathbf{F}_{\varphi}(g)(\lambda) d \Gamma_{1}(\lambda)-g(x)
\end{aligned}
$$

which holds for all $g \in D_{\mathbb{S}_{1}}$, that is when $\mathbf{F}_{\varphi}(g), \lambda \mathbf{F}_{\varphi}(g) \in L_{\Gamma_{1}}^{2}$.
The range of the operator $g \rightarrow \int_{0}^{\infty} H(x, t) \mathbb{S}_{1}(g)(t) d M_{1}(t)$ depends on the set of functions

$$
\gamma(g)(x):=\int_{0}^{\infty} y(x, \lambda) \mathbf{F}_{\varphi}(g)(\lambda) d \Gamma_{1}(\lambda)
$$

In order to see $\gamma(g)$ as an inverse $\mathbf{F}_{y}$-transform we first restrict $\gamma$ to the following dense set in $L_{M_{1}}^{2}$ :

$$
\left\{g \in L_{M_{1}}^{2}: \mathbf{F}_{\varphi}(g) \in C_{o}\right\} \subset D_{\mathbb{S}_{1}}
$$

We deduce that $\gamma(g)$ is a continuous function and so $\gamma(g) \in L_{M_{1}}^{2, l o c}$. Furthermore since $\frac{d \Gamma_{1}}{d \Gamma_{2}} \in L_{\Gamma_{2}}^{2, l o c}$ we have $\mathbf{F}_{\varphi}(g)(\lambda) \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda) \in L_{\Gamma_{2}}^{2,}$ and

$$
\gamma(g)(x)=\int_{0}^{\infty} y(x, \lambda) \mathbf{F}_{\varphi}(g)(\lambda) \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda) d \Gamma_{2}(\lambda) \in L_{M_{2}}^{2}
$$

¿From the condition $d M_{1}=O\left(d M_{2}\right)$ as $x \rightarrow \infty$ it follows that for large $N$

$$
\int_{N}^{\infty}|\gamma(g)(x)|^{2} d M_{1}(x) \leq c \int_{N}^{\infty}|\gamma(g)(x)|^{2} d M_{2}(x)
$$

and since $\gamma(g) \in L_{M_{1}}^{2, \text { loc }}$ we deduce that $\gamma(g) \in L_{M_{1}}^{2}$ which means that

$$
\int_{0}^{\infty} H(x, t) \mathbb{S}_{1} g(t) d M_{1}(t)=\gamma(g)(x)-g(x) \in L_{M_{1}}^{2}
$$

Thus the operation $g \rightarrow \int_{0}^{\infty} H(x, t) \mathbb{S}_{1} g(t) d M_{1}(t)$ is densely defined in the space $L_{M_{1}}^{2} . \square$
We now obtain a sufficient condition for the operator $\mathbb{H}$ to be compact.

Proposition 7. Assume that $d \Gamma_{1} \lll d \Gamma_{2}$, then $\mathbb{H}$ is a compact operator from $L_{M_{1}}^{2}$ into $L_{M_{1}}^{2}$ if

$$
\begin{equation*}
\int_{0}^{\infty} \int_{0}^{x}(x-t)^{2} d M_{2}(t) d M_{2}(x)<\infty \text { and } \int_{0}^{\infty} \int_{0}^{x}(x-t)^{2} d M_{1}(t) d M_{2}(x)<\infty \tag{4.2}
\end{equation*}
$$

Proof. From Theorem 1 it follows

$$
\int_{0}^{\infty}|H(x, t)|^{2} d M_{1}(t) \leq 2 \underset{\lambda}{\operatorname{esssup}} \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda) \int_{0}^{x}(x-t)^{2} d M_{2}(t)+2 \int_{0}^{x}(x-t)^{2} d M_{1}(t)
$$

which leads to

$$
\begin{array}{r}
\int_{0}^{\infty} \int_{0}^{\infty}|H(x, t)|^{2} d M_{1}(t) d M_{2}(x) \leq 2 \underset{\lambda}{\operatorname{esssup}} \frac{d \Gamma_{1}}{d \Gamma_{2}}(\lambda) \cdot \int_{0}^{\infty} \int_{0}^{x}(x-t)^{2} d M_{2}(t) d M_{2}(x) \\
+2 \int_{0}^{\infty} \int_{0}^{x}(x-t)^{2} d M_{1}(t) d M_{2}(x) . \square
\end{array}
$$

A sufficient condition for the realization of (4.2) would be

$$
\int_{0}^{\infty} x^{2} M_{2}(x) d M_{2}(x)<\infty \quad \text { and } \quad \int_{0}^{\infty} x^{2} M_{1}(x) d M_{2}(x)<\infty
$$

Once an operator is densely defined, we can ask for its adjoint.

## 5. The adjoint operator $\mathbb{H}^{*}$.

Proposition 8. Assume that $d M_{1}<^{2, l o c} d M_{2}$ and $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}\right)$ as $\lambda \rightarrow \infty$. Then $\mathbb{H}^{*}: L_{M_{1}}^{2} \rightarrow L_{M_{1}}^{2}$, which is defined by

$$
\mathbb{H}^{*}(f)(t)=\int_{0}^{\infty} H(x, t) f(x) d M_{1}(x)
$$

is densely defined, and for any $f \in C_{o}$, we have

$$
\begin{equation*}
\mathbf{F}_{\varphi}(f)(\lambda)+\lambda \mathbf{F}_{\varphi}\left(H^{*} f\right)(\lambda)=\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)(\lambda) \tag{5.1}
\end{equation*}
$$

Proof. Multiply (3.3) by $f \in C_{o}$, supp $f \subset[a, b]$ say, to obtain

$$
\begin{equation*}
\lambda \int_{a}^{b} f(x) \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t) d M_{1}(x)=\int_{a}^{b} f(x) y(x, \lambda) d M_{1}(x)-\int_{a}^{b} f(x) \varphi(x, \lambda) d M_{1}(x) \tag{5.2}
\end{equation*}
$$

Observe that from proposition $4, \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t) \in L_{M_{1}}^{2}$ and so

$$
f(x) \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t) \in L_{M_{1}}^{1}
$$

from which it follows that

$$
\begin{aligned}
\int_{a}^{b} f(x) \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) d M_{1}(t) d M_{1}(x) & =\int_{a}^{b} \int_{0}^{\infty} f(x) H(x, t) \varphi(t, \lambda) d M_{1}(t) d M_{1}(x) \\
& =\int_{0}^{\infty} \int_{a}^{b} f(x) H(x, t) d M_{1}(x) \varphi(t, \lambda) d M_{1}(t) \\
& =\mathbf{F}_{\varphi}\left(\int_{a}^{b} f(x) H(x, t) d M_{1}(x)\right)(\lambda)
\end{aligned}
$$

On the other hand the right-hand side of (5.2) is equal to

$$
\begin{align*}
\int_{a}^{b} f(x) y(x, \lambda) d M_{1}(x)-\int_{a}^{b} f(x) \varphi(x, \lambda) d M_{1}(x) & =\int_{a}^{b} f(x) y(x, \lambda) \frac{d M_{1}}{d M_{2}}(x) d M_{2}(x)-\mathbf{F}_{\varphi}(f)(\lambda) \\
& =\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)(\lambda)-\mathbf{F}_{\varphi}(f)(\lambda) . \tag{5.4}
\end{align*}
$$

Since $f \in C_{o}$ and $d M_{1}(x)<^{2, l o c} d M_{2}$, then $f(x) \frac{d M_{1}}{d M_{2}}(x) \in L_{M_{2}}^{2}$ and thus $\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right) \in L_{\Gamma_{2}}^{2}$. Because $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}\right)$ as $\lambda \rightarrow \infty$, then

$$
\begin{equation*}
\int_{N}^{\infty}\left|\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)(\lambda)\right|^{2} d \Gamma_{1}(\lambda) \leq c \int_{N}^{\infty}\left|\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)(\lambda)\right|^{2} d \Gamma_{2}(\lambda)<\infty \tag{5.5}
\end{equation*}
$$

But

$$
\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)(\lambda)=\int_{a}^{b} f(x) y(x, \lambda) d M_{1}(x)
$$

is continuous with respect to $\lambda$, therefore, for any $N$

$$
\begin{equation*}
\int_{0}^{N}\left|\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)(\lambda)\right|^{2} d \Gamma_{1}(\lambda)<\infty \tag{5.6}
\end{equation*}
$$

We deduced from (5.5) and (5.6) that $\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right) \in L_{d \Gamma_{1}}^{2}$ and since $\mathbf{F}_{\varphi}(f) \in L_{\Gamma_{1}}^{2}$, it follows

$$
\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)-\mathbf{F}_{\varphi}(f) \in L_{\Gamma_{1}}^{2} .
$$

Observe

$$
\frac{1}{\lambda}\left(\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)-\mathbf{F}_{\varphi}(f)\right)=\int_{a}^{b} f(x) \frac{1}{\lambda}(y(x, \lambda)-\varphi(x, \lambda)) d M_{1}(x)
$$

is bounded as $\lambda \rightarrow 0$, it follows that

$$
\frac{1}{\lambda}\left(\mathbf{F}_{y}\left(f(x) \frac{d M_{1}}{d M_{2}}(x)\right)-\mathbf{F}_{\varphi}(f)\right) \in L_{\Gamma_{1}}^{2}
$$

and so $\int_{a}^{b} f(x) H(x, t) d M_{1}(x) \in L_{M_{1}}^{2}$ for any $f \in C_{o}$. As $C_{o}$ is dense in $L_{M_{1}}^{2}$, the operator $\mathbb{H}^{*}$ : $L_{M_{1}}^{2} \rightarrow L_{M_{1}}^{2}$ defined by

$$
\mathbb{H}^{*}(f)(t)=\int_{a}^{b} H(x, t) f(x) d M_{1}(x)
$$

is densely defined. Furthermore from (5.3) and (5.4) it follows (5.1).

## 6. Adding a potential

We now extend the above construction to include operators such as

$$
\left\{\begin{array}{l}
\mathbb{S}_{1 q}(\phi)(x):=-\frac{d}{d M_{1}(x)} \frac{d^{+}}{d x} \phi(x, \lambda)+q_{1}(x) \phi(x, \lambda)=\lambda \phi(x, \lambda), \quad 0 \leq x<\infty  \tag{6.1}\\
\phi(0, \lambda)=b, \phi^{\prime}(0, \lambda)=a .
\end{array}\right.
$$

where the potential $q_{1} \in L_{M_{1}}^{2, \text { loc }}(0, \infty)$. The classical Sturm-Liouville problem corresponds to particular case when $M_{1}(x)=x$, i.e. $\mathbb{S}_{1 q}(\phi)(x):=-\frac{d^{2}}{d x^{2}} \phi(x, \lambda)+q(x) \phi(x, \lambda)=\lambda \phi(x, \lambda)$.
Similarly define the second generalized string by

$$
\left\{\begin{array}{l}
\mathbb{S}_{2 q}(\psi)(x):=-\frac{d}{d M_{2}(x)} \frac{d^{+}}{d x} \psi(x, \lambda)+q_{2}(x) \psi(x, \lambda)=\lambda \psi(x, \lambda), \quad 0 \leq x<\infty \\
\psi(0, \lambda)=b, \psi^{\prime}(0, \lambda)=a
\end{array}\right.
$$

where the potential $q_{2} \in L_{M_{2}}^{2, l o c}(0, \infty)$. Equation (6.1) is equivalent to

$$
\begin{equation*}
\phi(x, \lambda)=a x+b+\int_{0}^{x}(x-t) q_{1}(t) \phi(t, \lambda) d M_{1}(t)+\lambda \int_{0}^{x}(x-t) \phi(t, \lambda) d M_{1}(t) . \tag{6.2}
\end{equation*}
$$

The addition of a potential changes dramatically the spectrum from being mainly positive to possibly covering the whole real line. Thus the support of the spectral function is a subset of the real line.

We now show that a transmutation between the strings $\mathbb{S}_{1 q}$ and $\mathbb{S}_{2 q}$ exists under minimal conditions $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}(\lambda)\right)$ as $\lambda \rightarrow \pm \infty$.

Proposition 9. Assume that $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}(\lambda)\right)$ as $\lambda \rightarrow \pm \infty$, then there exists $H_{q}(x, t) \in$ $L_{M_{1}(t)}^{2}$ such that for $x \geq 0$

$$
\psi(x, \lambda)=\phi(x, \lambda)+\lambda \int_{0}^{\infty} H_{q}(x, t) \phi(t, \lambda) d M_{1}(t)
$$

Proof. For $\lambda \rightarrow \pm \infty$, we can recast (6.2) into

$$
\frac{1}{\lambda}(\phi(x, \lambda)-a x-b)=\frac{1}{\lambda} \int_{0}^{x}(x-t) q_{1}(t) \phi(t, \lambda) d M_{1}(t)+\int_{0}^{x}(x-t) \phi(t, \lambda) d M_{1}(t)
$$

and since $(x-t)_{+} q_{1}(t),(x-t)_{+} \in L_{M_{1}(t)}^{2}$, we use Parseval equality to deduce successively that

$$
\int_{0}^{x}(x-t) q_{1}(t) \phi(t, \lambda) d M_{1}(t), \int_{0}^{x}(x-t) \phi(t, \lambda) d M_{1}(t) \in L_{\Gamma_{1}}^{2}(N, \infty)
$$

and since the mapping $\mathbf{F} \rightarrow \frac{1}{\lambda} \mathbf{F}$ is bounded in $L_{\Gamma_{1}}^{2}(N, \infty)$, it also follows that

$$
\frac{1}{\lambda} \int_{0}^{x}(x-t) q_{1}(t) \phi(t, \lambda) d M_{1}(t) \in L_{\Gamma_{1}}^{2}(N, \infty)
$$

and so

$$
\begin{equation*}
\frac{1}{\lambda}(\phi(x, \lambda)-a x-b) \in L_{\Gamma_{1}}^{2}(N, \infty) \tag{6.3}
\end{equation*}
$$

We repeat the same argument for the second solution $\psi$ to obtain

$$
\frac{1}{\lambda}(\psi(x, \lambda)-a x-b) \in L_{\Gamma_{2}}^{2}(N, \infty)
$$

and since $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}(\lambda)\right)$ as $\lambda \rightarrow \pm \infty$, we deduce that

$$
\begin{equation*}
\frac{1}{\lambda}(\psi(x, \lambda)-a x-b) \in L_{\Gamma_{2}}^{2}(N, \infty) \subset L_{\Gamma_{1}}^{2}(N, \infty) \tag{6.4}
\end{equation*}
$$

Subtract (6.3) from (6.4) then yields

$$
\frac{1}{\lambda}(\psi(x, \lambda)-\phi(x, \lambda)) \in L_{\Gamma_{1}}^{2}(N, \infty)
$$

Repeat all the above arguments using $L_{\Gamma_{1}}^{2}(-\infty,-N)$ instead of $L_{\Gamma_{1}}^{2}(N, \infty)$ leads to $\frac{1}{\lambda}(\psi(x, \lambda)-\phi(x, \lambda)) \in$ $L_{\Gamma_{1}}^{2}(-\infty,-N)$ which means

$$
\begin{equation*}
\frac{1}{\lambda}(\psi(x, \lambda)-\phi(x, \lambda)) \in L_{\Gamma_{1}}^{2}[(-\infty,-N) \cup(N, \infty)] \tag{6.5}
\end{equation*}
$$

To finish we observe that

$$
\frac{1}{\lambda}(\psi(x, \lambda)-\phi(x, \lambda))
$$

as a function of $\lambda$ is continuous for $\lambda \in[-N, N]$ for any large $N>0$, and so

$$
\begin{equation*}
\frac{1}{\lambda}(\psi(x, \lambda)-\phi(x, \lambda)) \in L_{\Gamma_{1}}^{2}(-N, N) \tag{6.6}
\end{equation*}
$$

Combining (6.5) and (6.6) leads to

$$
\frac{1}{\lambda}(\psi(x, \lambda)-\phi(x, \lambda)) \in L_{\Gamma_{1}}^{2}(-\infty, \infty)
$$

and the inverse $\mathbf{F}_{\phi}$-transform implies the existence of $H_{q}(x, t) \in L_{M_{1}(t)}^{2}$

$$
\frac{1}{\lambda}(\psi(x, \lambda)-\phi(x, \lambda))=\int_{0}^{\infty} H_{q}(x, t) \phi(t, \lambda) d M_{1}(t)
$$

In order to proceed further we rewrite the transmutation operator as

$$
\begin{aligned}
\psi(x, \lambda) & =\phi(x, \lambda)+\int_{0}^{\infty} H_{q}(x, t) \lambda \phi(t, \lambda) d M_{1}(t) \\
& =\phi(x, \lambda)+\int_{0}^{\infty} H_{q}(x, t) \mathbb{S}_{1 q} \phi(t, \lambda) d M_{1}(t) \\
& =\phi(x, \lambda)+\int_{0}^{\infty} H_{q}(x, t) d^{+} \phi(t, \lambda)
\end{aligned}
$$

The kernel $H_{q}$ contains all information about the solution $\psi$ and so contains the information about $M_{2}$ and $q_{2}$.
In practice, we usually do not have the spectral function explicitly. In the next proposition we use an important fact that asymptotics of the spectral function $\Gamma$ as $\lambda \rightarrow \infty$ depend on the behavior of $M$ as $x \rightarrow 0$.

Proposition 10. Assume that $\lim _{x \rightarrow 0} \frac{D M_{1}}{D x^{\alpha_{1}}}=k_{1} \neq 0, \lim _{x \rightarrow 0} \frac{D M_{2}}{D x^{\alpha_{2}}}=k_{2} \neq 0$, and spectrum of $\mathbb{S}_{1}$ is bounded from below. If $0<\alpha_{1} \leq \alpha_{2}$ then there exists $H_{q}(x, \cdot) \in L_{M_{1}}^{2}(0, x)$ such that for $x \geq 0$

$$
\psi(x, \lambda)=\phi(x, \lambda)+\lambda \int_{0}^{\infty} H_{q}(x, t) \phi(t, \lambda) d M_{1}(t)
$$

Proof. We only need to show that conditions of Proposition 9 hold. First when $\lambda \rightarrow-\infty$, $d \Gamma_{1}(\lambda)=0$ and so the condition $d \Gamma_{1}(\lambda)=O\left(d \Gamma_{2}(\lambda)\right)$ is trivially verified. However when $\lambda \rightarrow \infty$, we have two separate cases, see $[\mathbf{1 4}]$ : if

$$
\begin{aligned}
& a \neq 0 \quad \text { then } \Gamma_{i}(\lambda)=c_{1} \lambda^{\frac{\alpha_{i}}{1+\alpha_{i}}}+o\left(\lambda^{\frac{\alpha_{i}}{1+\alpha_{i}}}\right) \text { as } \lambda \rightarrow \infty \\
& a=0
\end{aligned} \text { then } \Gamma_{i}(\lambda)=c_{1} \lambda^{\frac{2+\alpha_{i}}{1+\alpha_{i}}}+o\left(\lambda^{\frac{2+\alpha_{i}}{1+\alpha_{i}}}\right) \text { as } \lambda \rightarrow \infty .
$$

Since $0<\alpha_{1} \leq \alpha_{2}$ implies $\frac{\alpha_{1}}{1+\alpha_{1}} \leq \frac{\alpha_{2}}{1+\alpha_{2}}$ i.e. $\frac{d \Gamma_{1}}{d \Gamma_{2}} \approx c \lambda^{\frac{\alpha_{1}-\alpha_{2}}{\left(1+\alpha_{1}\right)\left(1+\alpha_{2}\right)}}<\infty$ as $\lambda \rightarrow \infty$.
We now present explicit examples which show that the representation of the transmutations cannot be in general triangular or close to unity, see $[\mathbf{1 1}]$.

## 7. Examples

Many examples of all kinds of spectra, for various potentials, can be found in $[\mathbf{6}, \mathbf{2 2}]$. The purpose of the following examples is to illustrate two essential facts of transmutations for strings, which make all the difference from the usual transmutations for Sturm-Liouville operators (1.6). The first is that one should have the parameter $\lambda$ in the integral. Secondly the upper bound may not be just $x$ as in the Gelfand-Levitan theory.

Example 1. Let $M_{1}(x)=x$ and $M_{2}(x)=\rho^{2} x, a=1, b=0, \rho>1$. Then for $x \geq 0$, we have

$$
\left[\mathbb{S}_{1}\right]\left\{\begin{array} { l } 
{ - \frac { d } { d x } \frac { d ^ { + } } { d x + } \varphi ( x , \lambda ) = \lambda \varphi ( x , \lambda ) , } \\
{ \varphi ( 0 , \lambda ) = 1 , \varphi ^ { \prime } ( 0 , \lambda ) = 0 }
\end{array} \quad \text { and } \quad [ \mathbb { S } _ { 2 } ] \left\{\begin{array}{l}
-\frac{d}{\rho^{2} d x} \frac{d^{+}}{d x^{+}} y(x, \lambda)=\lambda y(x, \lambda) \\
y(0, \lambda)=1, y^{\prime}(0, \lambda)=0
\end{array}\right.\right.
$$

The eigenfunctionals of the strings are

$$
\varphi(x, \lambda)=\cos (x \sqrt{\lambda}) \text { and } y(x, \lambda)=\cos (\rho x \sqrt{\lambda}) \quad \text { for } x \geq 0
$$

and their spectral functions, [19], are given by

$$
d \Gamma_{1}(\lambda)=\frac{1}{\pi} \frac{d \lambda}{\sqrt{\lambda_{+}}} \quad \text { and } \quad d \Gamma_{2}(\lambda)=\frac{\rho}{\pi} \frac{d \lambda}{\sqrt{\lambda_{+}}}
$$

Thus by Proposition 2, the transmutation exists

$$
\cos (\rho x \sqrt{\lambda})=\cos (x \sqrt{\lambda})+\lambda \int_{0}^{\infty} H(x, t) \cos (t \sqrt{\lambda}) d t
$$

Computing the kernel $H$, we obtain

$$
\begin{aligned}
H(x, t)= & \frac{1}{\pi} \int_{0}^{\infty} \frac{1}{\lambda}(\cos (\rho x \sqrt{\lambda})-\cos (x \sqrt{\lambda})) \cos (t \sqrt{\lambda}) \frac{d \lambda}{\sqrt{\lambda}} \\
= & \min \left\{\frac{\rho+1}{2} x,\left|\frac{\rho-1}{2} x+t\right|\right\} \operatorname{sign}\left[\frac{\rho-1}{2} x+t\right] \\
& +\min \left\{\frac{\rho+1}{2} x,\left|\frac{\rho-1}{2} x-t\right|\right\} \operatorname{sign}\left[\frac{\rho-1}{2} x-t\right]
\end{aligned}
$$

One can verify that $H(x, t)=0$ if $t>\rho x$, but $H(x, t)=\rho x-t \neq 0$ if $t<\rho x$, but close to $\rho x$. Therefore we deduce an explicit form of the type

$$
\begin{equation*}
\cos (\rho x \sqrt{\lambda})=\cos (x \sqrt{\lambda})+\lambda \int_{0}^{\rho x} H(x, t) \cos (t \sqrt{\lambda}) d t \tag{7.1}
\end{equation*}
$$

Here we notice that the multiplier $\lambda$ is needed simply because for any fixed $x>0$ we have $\cos (\rho x \sqrt{\lambda})-\cos (x \sqrt{\lambda}) \notin L_{\sqrt{\lambda}}^{2}$ while the integral on the right hand side

$$
\int_{0}^{\rho x} H(x, t) \cos (t \sqrt{\lambda}) d t \in L_{\sqrt{\lambda_{+}}}^{2}
$$

Thus the role of $\lambda$ is to ensure that $\frac{1}{\lambda}(\cos (\rho x \sqrt{\lambda})-\cos (x \sqrt{\lambda})) \in L_{\sqrt{\lambda_{+}}}^{2}$.
As for the integral upper bound in (7.1), it cannot be just $x$ as in the transmutation used by Gelfand-Levitan. It is easily seen that since the growth type of $\cos (\rho x \sqrt{\lambda})-\cos (x \sqrt{\lambda})$ as a function of $\sqrt{\lambda}$ is $\rho x$, when $\rho>1$ the Paley-Wiener theorem implies that the support of the transform must be included in $[-\rho x, \rho x]$ and the fact that the transform is even, reduces it to $[0, \rho x]$.
Example 2. Consider transmuting the strings when $\alpha, \beta>0$,

$$
\left[\mathbb{S}_{1}\right]\left\{\begin{array} { l } 
{ - x ^ { - \alpha } \varphi ^ { \prime \prime } ( x , \lambda ) = \lambda \varphi ( x , \lambda ) , \quad 0 \leq x } \\
{ \varphi ( 0 , \lambda ) = 1 \quad \varphi ^ { \prime } ( 0 , \lambda ) = 0 }
\end{array} \quad [ \mathbb { S } _ { 2 } ] \left\{\begin{array}{l}
-x^{-\beta} y^{\prime \prime}(x, \lambda)=\lambda y(x, \lambda), \\
y(0, \lambda)=1 \quad y^{\prime}(0, \lambda)=0
\end{array}\right.\right.
$$

Their eigensolutions are the well known Bessel functions

$$
\varphi(x, \lambda)=c_{1}(\lambda) \sqrt{x} Y_{\frac{1}{2+\alpha}}\left(\frac{2 \sqrt{\lambda}}{2+\alpha} x^{\frac{2+\alpha}{2}}\right) \quad \text { and } \quad y(x, \lambda)=c_{2}(\lambda) \sqrt{x} Y_{\frac{1}{2+\beta}}\left(\frac{2 \sqrt{\lambda}}{2+\beta} x^{\frac{2+\beta}{2}}\right)
$$

The spectral functions are [14],

$$
\Gamma_{1}(\lambda) \approx C_{1} \lambda^{\frac{\alpha+1}{\alpha+2}} \text { and } \Gamma_{2}(\lambda) \approx C_{2} \lambda^{\frac{\beta+1}{\beta+2}} \quad \text { as } \lambda \rightarrow \infty
$$

This leads to the following conclusion.
Corollary 2. If $\beta \geq \alpha>0$ then there exists a transmutation such that

$$
y(x, \lambda)=\varphi(x, \lambda)+\lambda \int_{0}^{\infty} H(x, t) \varphi(t, \lambda) t^{\alpha} d t
$$

In terms of Bessel functions the above relation becomes

$$
\begin{aligned}
c_{2}(\lambda) \sqrt{x} Y_{\frac{1}{2+\beta}}\left(\frac{2 \sqrt{\lambda}}{2+\beta} x^{\frac{2+\beta}{2}}\right)= & c_{1}(\lambda) \sqrt{x} Y_{\frac{1}{2+\alpha}}\left(\frac{2 \sqrt{\lambda}}{2+\alpha} x^{\frac{2+\alpha}{2}}\right) \\
& +\lambda c_{1}(\lambda) \int_{0}^{\infty} H(x, t) \sqrt{t} Y_{\frac{1}{2+\alpha}}\left(\frac{2 \sqrt{\lambda}}{2+\alpha} t^{\frac{2+\alpha}{2}}\right) t^{\alpha} d t
\end{aligned}
$$

An interesting particular case is when $\alpha=1$, i.e. $\varphi(x, \lambda)=\cos (x \sqrt{\lambda})$, thus for $\beta \geq 1$ we have

$$
c_{2}(\lambda) \sqrt{x} Y_{\frac{1}{2+\beta}}\left(\frac{2 \sqrt{\lambda}}{2+\beta} x^{\frac{2+\beta}{2}}\right)=\cos (x \sqrt{\lambda})+\lambda \int_{0}^{\infty} H(x, t) \cos (t \sqrt{\lambda}) d t
$$

Acknowledgment. The authors sincerely thank the referee for his constructive comments.

## References

[1] A. Boumenir, A comparison theorem for self-adjoint operators, Proc. Amer. Math. Soc., 111, 1991, 161-175.
[2] A. Boumenir, The sampling method for the string, Applied. Math. Letters , 13, 2000, 29-36.
[3] R.W. Carroll, Transmutation and operator differential equations Notas de Mathematica,Vol37, North Holland, 1979.
[4] R.W. Carroll, Transmutation Theory and Applications, North-Holland Mathematics Studies, 117. 105, Amsterdam, 1985.
[5] K. Chadan and P. C. Sabatier, Inverse Problems in Quantum Scattering Theory, Springer-Verlag, 1989.
[6] H. Dym and H.P. McKean, Gaussian Processes, Function Theory and Inverse Spectral Problem, Academic Press, 1976.
[7] H. Dym and N. Kravitsky, On recovering the mass distribution of a string from its spectral function, Topics in Functional Analysis (Essays dedicated to M.G. Krein on the occasion of his 70th birthday), pp. 45-90, Adv. in Math. Suppl. Stud., 3, Academic Press, New York-London, 1978.
[8] H. Dym and N. Kravitsky, On the inverse spectral problem for the string equation, Integral Equations Operator Theory 1, 1978, 2, 270-277.
[9] I. M. Gelfand and B. M. Levitan, On the determination of a differential equation from its spectral function, Amer. Math. Soc. Transl, (2). Vol 1, 1951, 253-304.
[10] I.M. Gelfand and G.E. Shilov, Generalized Functions Vol 2,3,4 Eng.trans., Academic press, New York, 1961.
[11] I.S. Gokberg and M.G. Krein, Theory of Volterra Operators in Hilbert Spaces and their Applications. Amer.Math.Soc.transl Mono.Vol 18 Providence, R.I, 1969.
[12] S.G. Halvorsen, A function-theoretic property of solutions of the equation $x^{\prime \prime}+(\lambda w-q) x=0$, Quart. J. Math. Oxford Ser. (2). 38, no. 149, 1987, 73-76.
[13] I.S. Kac, The existence of spectral functions of generalized second-order differential systems, Amer. Math. Soc. Transl. (2). 62, 1966, 204-262.
[14] I.S. Kac, Power asymptotics estimates for spectral functions of generalized boundary value problems of second order problems, Soviet. Math. Dokl. Vol 13, 1972, 453-457.
[15] M.G. Krein, and I.S. Kac, Spectral function of the string, Amer. Math. Soc. Transl.(2). Vol 103, 1970, 19-103.
[16] H. Langer, and H. Winkler, Direct and inverse spectral problems for generalized strings. Dedicated to the memory of Mark Grigorievich Krein (1907-1989). Integral Equations Operator Theory 30, 1998, no. 4, 409431.
[17] B.M. Levitan, Inverse Sturm-Liouville Problems, VNU Science Press, Utrech, 1987.
[18] B.M. Levitan and M.G. Gasymov, Determination of a differential equation by two of its spectra, Russian Math. Surveys, Vol 19, 1964, 1-63.
[19] V.A. Marchenko, Some questions of the theory of one-dimensional linear differential operators of the second order. I. American Mathematical Society Translations, Series 2. Vol. 101, Providence, 1973, 1-104.
[20] I.P. Natanson, Theory of Functions of a Real Variable. Ungar Publishing Co., New York, 1955.
[21] P. Sabatier, Applied Inverse Problems, Springer Lecture Notes in Physics No. 85, 1978.
[22] E.C. Titchmarsh. Eigenfunction Expansions Associated with Second-Order Differential Equations. Part II. Second Edition, Clarendon Press, Oxford, 1962.
[23] G. Turchetti and G. Sagretti, Stieltjes functions and approximation solutions of an inverse problem, Springer Lecture Notes in Physics No. 85, 1978, 123-133.
[24] H. Winkler, Small perturbations of canonical systems, Integral Equations Operator Theory 38, 2000, no. 2, 222-250.

